BF I_ N C K o MT <ERIES Optional parts

BFL PLASTIC MOUNTING BRACKET

BFL-1 BFL-2/ BFL2-21
20 19.5 25 23
5 12 .75 6
p & i B
- [ @ 0
N R | : ¢
= n (
T | = : |
© (\
5 ST &
FEATU RE Color G Color S o
® \ery high strength by glass fiber reinforced PC. <] @ 55 105
14.5
Color Type Components
Color code Color Part name Material Color Pcs
G White gray Mounting bracket Glass fiber reinforced PC White gray - Light gray 4
S Light gray Screw Stainless steel Unfinished 4
Part no. ® Please suffix color code at the end of part number O when ordering BFL series.
Part no. Suitable box Screw size
BFL-10O BCAP-K:R,BCPC-K-R 0912, 1015, 1121, 1126, 1315, 1318, 1621, 1626, 1722, 1727, 212113 M4x12
BFL-2[1 BCAP-K-R, BCPC-K-R 1928, 2030, 2535, 2828, 2838, 3030, 3040, 3535, 3545, 4050, 4060, 5060 M5x12
BFL-2-210 |BCAP-K-R,BCPC:-K-R 212110 M4x12
© Do not fit for BCAP1515. Use CK-35P instead.
CK MOUNTING BRACKET CK=35P 5 2 CK-26P
15 ‘ 18 12 2
55 o
- 6.5
° N
} \_J A = L) ]

43
2
y

el
2
.

8.5
21
9
19

9 9
75|75
Components '
Part name Pcs Material Finish
Mounting bracket 4 Stainless steel Barrel finish
Screw 4 Stainless steel Unfinished
Part no.
Part no. Suitable box Screw
CK-35P BCAP-K-R, BCPC-K-R 0912, 1015, 1121, 1126, 1315, 1318, 1515, 1621, 1626, 1722, 1727, 2121 M4x10
CK-26P BCAP - K- R, BCPC-K-R 1928, 2030, 2535, 2828, 2838, 3030, 3040, 3535, 3545, 4050, 4060 M5x10
MT MOUNTING SC REW ® Tapping screw for M4, M5 boss.
Part no.
Part no. Pcs Material Finish
MT4-8T 20 Steel M4, tapping Trivalent chromate
MT5-8T 20 Steel M5, tapping Trivalent chromate
Available box list
Part no. Suitable box
MT4-8T BCAP -K-R,BCPC-K-R 0912, 1015, 1121, 1126, 1315, 1318, 1515, 1621, 1626, 1722, 1727, 1928, 2121
MT5-8T BCAP - K- R, BCPC-K-R 2030, 2535, 2828, 2838, 3030, 3040, 3535, 3545, 4050, 4060, 5060, 5070, 6080

224





